
MATHS

BOOKS - ACCURATE PUBLICATION

DEFINITE INTEGRALS

Example

1. Evaluate : .

Watch Video Solution

∫
4

2
(x2 − 1)dx

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_05daJNKNI5VM


2. Evaluate .

Watch Video Solution

∫
1

0
e2xdx

3. Evaluate 

Watch Video Solution

∫
1

0

dx

√1 − x2

4. Evaluate 

Watch Video Solution

∫
0

dx

π

2 cos x

(2 + sinx)(3 + sinx)

https://dl.doubtnut.com/l/_ueA1KCULM3i9
https://dl.doubtnut.com/l/_jXHPpIrQLwK3
https://dl.doubtnut.com/l/_QCM4IIcURoRc


5. Evaluate 

Watch Video Solution

∫
0

dx

π

2 cos x

(3 + sinx)(4 + sinx)

6. Evaluate 

Watch Video Solution

∫
0

dx

π

2 cos x

(4 + sinx)(5 + sinx)

7. Show that : .

Watch Video Solution

∫
0

dx =

π

2 √sinx

√sinx + √cos x

π

4

https://dl.doubtnut.com/l/_mGuWNYn1gNi6
https://dl.doubtnut.com/l/_zcBzYIfGxL0w
https://dl.doubtnut.com/l/_ilMmYQlarFCU


8. Evaluate  dx

Watch Video Solution

∫
π / 3

π / 6

(
1

1 + √cot x

9.  is equal to

Watch Video Solution

∫
π / 2

0

( )dx
√cos x

√sinx + √cos x

https://dl.doubtnut.com/l/_ilMmYQlarFCU
https://dl.doubtnut.com/l/_hCBCNZsJgGsF
https://dl.doubtnut.com/l/_RJ5HguCFjjHx


10. By using the properties of definte, prove

that 

Watch Video Solution

∫
π / 2

0

dx =
sin3 x

sin3 x + cos3 x

π

4

11. Find the following integrals 

Watch Video Solution

∫
π / 2

0
dx

sin4 x

sin4 x + cos4 x

https://dl.doubtnut.com/l/_xWDQVkIfFxSY
https://dl.doubtnut.com/l/_HVt5aBZdMIhI


12. Evaluate : .

Watch Video Solution

∫ dx

π

3

π

6

1

1 + tan x
3
2

13. Evaluate  dx

Watch Video Solution

∫
π / 3

π / 6

(
1

1 + √tanx

14. Evaluate  dx

Watch Video Solution

∫
1

− 1

|2x + 1|

https://dl.doubtnut.com/l/_pWOusCPpweXs
https://dl.doubtnut.com/l/_Ea8HypEVKmLk
https://dl.doubtnut.com/l/_mGGWEof6lDKI


15. Evaluate .

Watch Video Solution

∫
1

− 1
|2x + 1|dx

16. Evaluate .

Watch Video Solution

∫
1

− 1

|2x + 1|dx

17. Show that : .

Watch Video Solution

∫
5

− 5

|x + 2|dx = 29

https://dl.doubtnut.com/l/_mGGWEof6lDKI
https://dl.doubtnut.com/l/_VW6kBSVrlnPJ
https://dl.doubtnut.com/l/_7V6kZ7mxxiKx
https://dl.doubtnut.com/l/_2tW9dgZIO6XL


18. Show that : .

Watch Video Solution

∫
2

− 2
|x + 1|dx = 5

19. Evaluate .

Watch Video Solution

∫
6

− 6
|x + 3|dx

20. Evaluate : 

Watch Video Solution

∫
π

0

dx
x sinx

1 + cos2 x

https://dl.doubtnut.com/l/_2tW9dgZIO6XL
https://dl.doubtnut.com/l/_PiqaVmQnzE07
https://dl.doubtnut.com/l/_wTQeMWcBzcHh
https://dl.doubtnut.com/l/_9Vrgw4qVDGiU


21. Prove that following: 

Watch Video Solution

π

∫

0

dx =
x tanx

secx + cos x

π2

4

22. Using properties of definite integrals, show

that 

Watch Video Solution

∫
π / 2

0

= log(√2 + 1)
xdx

sinx + cos x

π

2√2

https://dl.doubtnut.com/l/_9Vrgw4qVDGiU
https://dl.doubtnut.com/l/_KtQjO3v5sN5n
https://dl.doubtnut.com/l/_bAM9V8awdozz


23. Evaluate  

Watch Video Solution

∫
0

sinx

π

2

dx

24. Evaluate 

Watch Video Solution

∫
π / 2

0

log|cos x|dx

25. Using properties of definite integrals, show

that 

https://dl.doubtnut.com/l/_bAM9V8awdozz
https://dl.doubtnut.com/l/_AGMGEjvPJbQY
https://dl.doubtnut.com/l/_WRnqAGerCpjW
https://dl.doubtnut.com/l/_BvgC7mj8RKG2


Watch Video Solution

∫
π / 2

0

dx = log(√2 + 1)
sin2 x

sinx + cos x

1

√2

26. Evaluate .

Watch Video Solution

∫
0

dx

π

2 2 sinx + 3 cos x

sinx + cos x

27. Evaluate 

Watch Video Solution

∫
π / 2

0
dx

sinx + 4 cos x
sinx + cos x

https://dl.doubtnut.com/l/_BvgC7mj8RKG2
https://dl.doubtnut.com/l/_67tP1M0jUCI2
https://dl.doubtnut.com/l/_x2qXGwLev4TP
https://dl.doubtnut.com/l/_unhZLp9xyiD8


Question Carrying 1 Mark Type I

28. Evaluate 

Watch Video Solution

∫
π / 2

0
dx

4 sinx + cos x
sinx + cos x

1.  dx is equal to :

A. 

B. 

C. 

∫
2

0
x2 + 2

20

3

28

3

38

3

https://dl.doubtnut.com/l/_unhZLp9xyiD8
https://dl.doubtnut.com/l/_WgAn1cNqs8ve


D. 27

Answer:

Watch Video Solution

2.  is equal to :

A. 

B. 

C. 

D. 

∫
1

0
dx

1

√1 − x2

π

4

π

3

π

2

π

6

https://dl.doubtnut.com/l/_WgAn1cNqs8ve
https://dl.doubtnut.com/l/_HhNnMAqTZJrV


Answer:

Watch Video Solution

3.  is equal to :

A. 

B. 

C. 

D. 

Answer:

∫
1

0
dx

1

√1 − x2

π

3

π

2

π

4

π

6

https://dl.doubtnut.com/l/_HhNnMAqTZJrV
https://dl.doubtnut.com/l/_7XaWME6PkgeE


Watch Video Solution

4.  is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
1

0

dx

1 + x2

π

3

π

4

π

12

7π
12

https://dl.doubtnut.com/l/_7XaWME6PkgeE
https://dl.doubtnut.com/l/_TRUhVJUqKZpZ


5.  dx is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
√3

0

dx

1 + x2

π

4

2π

3

π

6

π

3

https://dl.doubtnut.com/l/_TRUhVJUqKZpZ
https://dl.doubtnut.com/l/_RjjUmGpbq48R
https://dl.doubtnut.com/l/_plWYEYZ0c4Ho


6.  is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
√3

1

dx

1 + x2

π

3

π

4

π

12

7π
12

7.  is equal to :∫
∞

0

dx
1

1 + x2

https://dl.doubtnut.com/l/_plWYEYZ0c4Ho
https://dl.doubtnut.com/l/_J0spB5Qfcyms


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π

4

π

3

π

2

π

6

8.  is equal to :

A. 2

∫
1

− 1
(x91 + x93)dx

https://dl.doubtnut.com/l/_J0spB5Qfcyms
https://dl.doubtnut.com/l/_hDOKGk7J4k2i


B. 

C. -1

D. 0

Answer:

Watch Video Solution

93

4324

9.  is equal to :

A. 

B. 2

∫
1

− 1
(x71 + x73)dx

73

2664

https://dl.doubtnut.com/l/_hDOKGk7J4k2i
https://dl.doubtnut.com/l/_zaWJdo3tmXbe


C. 0

D. -1

Answer:

Watch Video Solution

10.  is equal to :

A. 0

B. 1

C. -1

∫
1

− 1
(x19 + x21)dx

https://dl.doubtnut.com/l/_zaWJdo3tmXbe
https://dl.doubtnut.com/l/_Fh08zUEsBwv9


D. 

Answer:

Watch Video Solution

21

220

11.  is equal to :

A. 

B. 6

C. 0

D. 2 sin 3

∫
3

− 3
(x + sinx)dx

9 + 2 sin 3

https://dl.doubtnut.com/l/_Fh08zUEsBwv9
https://dl.doubtnut.com/l/_6hIxCBc2ippA


Answer:

Watch Video Solution

12.  is equal to :

A. 

B. 0

C. 2

D. 2 sin 2

Answer:

∫
1

− 1
(x + sinx)dx

1 + x

https://dl.doubtnut.com/l/_6hIxCBc2ippA
https://dl.doubtnut.com/l/_MJoZOFA9pbR7


Watch Video Solution

13.  is equal to :

A. 

B. 4

C. 0

D. 2 sin 2

Answer:

Watch Video Solution

∫
2

− 2
(x + sinx)dx

4 + sin 2

https://dl.doubtnut.com/l/_MJoZOFA9pbR7
https://dl.doubtnut.com/l/_ffQE5Wlwn2DE


14. dx is equal to :

A. 

B. 27

C. -1

D. 0

Answer:

Watch Video Solution

∫
3

− 3

x3

81

94

https://dl.doubtnut.com/l/_ffQE5Wlwn2DE
https://dl.doubtnut.com/l/_PgO3OVyNAVeM


15.  equals :

A. 2

B. 0

C. 1

D. 3

Answer:

Watch Video Solution

∫
5

1
dx

√6 − x

√x + √6 − x

https://dl.doubtnut.com/l/_yqqeZChFBGep


16.  equals :

A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

∫
6

2
dx

√8 − x

√x + √8 − x

https://dl.doubtnut.com/l/_r86r686VXExq


17.  is equal to

A. 0

B. -1

C. 0

D. 2

Answer:

Watch Video Solution

∫
π

0

sin2 x cos3 dx

https://dl.doubtnut.com/l/_JCAAF1TAt8Vx


18.  is equal to :

A. 1

B. -1

C. 2

D. 0

Answer:

Watch Video Solution

∫
π

0

sin3 x cos5 xdx

https://dl.doubtnut.com/l/_MkNg5KDwsLV2


19.  is equal to

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

∫
π / 2

0

( )dx
√cos x

√sinx + √cos x

π

4

π

6

π

2

https://dl.doubtnut.com/l/_5T8DSWk9sQn3


20.  is equal to :

A. 0

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
0

dx

π

2 sin x1
2

sin x + cos x
1
2

1
2

π

2

π

3

π

4

https://dl.doubtnut.com/l/_LlmUvVBthGag


21.  is equal to :

A. 0

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
0

dx

π

2 sin x
3
2

sin x + cos x
3
2

3
2

π

2

π

3

π

4

https://dl.doubtnut.com/l/_tX8GLOz7sACh


22.  is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
0

dx

π

2 sin x
3
2

sin x + cos x
3
2

3
2

π

4

π

2

π

2π

https://dl.doubtnut.com/l/_TQpk2MOwEhRS


23.  is equal to

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

∫
π / 2

0

( )dx
√cos x

√sinx + √cos x

π

2

π

4

π

6

https://dl.doubtnut.com/l/_rNz1MYpfClpL


24.  equals

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
2 / 3

0

dx

4 + 9x2

π

6

π

12

π

24

π

4

https://dl.doubtnut.com/l/_2Ii7AjFBMAmy


25. The value of the integral 

is :

A. 6

B. 0

C. 3

D. 4

Answer:

Watch Video Solution

∫
1

dx
1
3

(x − x3)
1
3

x4

https://dl.doubtnut.com/l/_GztnpKukrjor
https://dl.doubtnut.com/l/_Fnp0myanCn3R


26. If , then  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

f(x) = ∫
x

0
t sin tdt f' (x)

cos x + x sinx

x sinx

x cos x

sinx + x cos x

https://dl.doubtnut.com/l/_Fnp0myanCn3R


27. The value of  is

A. 2

B. 

C. 0

D. -2

Answer:

Watch Video Solution

∫
π / 2

0

log( )dx
4 + 3 sinx

4 + 3 cos x

3

4

https://dl.doubtnut.com/l/_BB4i2KF5pV6F


28. The value of  is (are)

A. 1

B. 0

C. -1

D. 

Answer:

Watch Video Solution

∫
1

0
dx

x4(1 − x)4

1 + x2

π

4

https://dl.doubtnut.com/l/_kCD64l3pcyV0


29.  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
b+ c

a+ c

f(x)dx

∫
b

a

f(x − c)dx

∫
b

a

f(x + c)dx

∫
b

a

f(x)dx

∫
b− c

a− c

f(x)dx

https://dl.doubtnut.com/l/_fmRaUOzawHTP


30. If f and g are continuous functions in [0, 1]

satisfying 

,

then  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

f(x) = f(a − x) and g(x) + g(a − x) = a

∫
a

0
f(x) ⋅ g(x)dx

a

2

∫
a

0
f(x)dx

a

2

∫
a

0
f(x)dx

a∫
a

0
f(x)dx

https://dl.doubtnut.com/l/_Jfj5sgEMRlWc


Watch Video Solution

31. If , then

a is equal to

A. 3

B. 6

C. 9

D. 1

Answer:

Watch Video Solution

x = ∫
y

0
and = ay

dt

√1 + 9t2

d2y

dx2

https://dl.doubtnut.com/l/_Jfj5sgEMRlWc
https://dl.doubtnut.com/l/_3h0Atwg9B2td


32.  is equal to

A. log 2

B. 2 log 2

C. 

D. 

Answer:

Watch Video Solution

∫
1

− 1
dx

x3 + |x| + 1

x2 + 2|x| + 1

log 2
1

2

4 log 2

https://dl.doubtnut.com/l/_3h0Atwg9B2td
https://dl.doubtnut.com/l/_WE50txzN45Ef
https://dl.doubtnut.com/l/_nSV5PAujVRfU


33. If , then  is

equal to

A. a) 

B. b) 

C. c) 

D. d) 

Answer:

Watch Video Solution

1

∫

0

dt = a
et

1 + t

1

∫

0

dt
et

(1 + t)
2

a − 1 +
e

2

a + 1 −
e

2

a − 1 −
e

2

a + 1 +
e

2

https://dl.doubtnut.com/l/_nSV5PAujVRfU
https://dl.doubtnut.com/l/_nGtAmQAJpl9m


34.  is equal to

A. a) 

B. b) 

C. c) 

D. d) 

Answer:

Watch Video Solution

∫
2

− 2

|x cos πx|dx

8

π

4
π

2

π

1

π

https://dl.doubtnut.com/l/_nGtAmQAJpl9m


35.  is equal to

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

∫
−

π

4

π

4

dx

1 + cos 2x

https://dl.doubtnut.com/l/_2GwsGIn0lOHN


Question Carrying 1 Mark Type Ii

36.  is equal to

A. 

B. 

C. 2

D. 

Answer:

Watch Video Solution

∫
0

√1 − sin 2xdx

π

2

2√2

2(√2 + 1)

2(√2 − 1)

https://dl.doubtnut.com/l/_BpkonZCqyd8L


1. dx is equal to :

Watch Video Solution

∫
3

1
(x2 + 2)

2.  is equal to :

Watch Video Solution

∫
1

0

dx

1 + x2

3.  dx is equal to :

Watch Video Solution

∫
√3

0

dx

1 + x2

https://dl.doubtnut.com/l/_FrTwGtSpjVbc
https://dl.doubtnut.com/l/_OZ21c9765X45
https://dl.doubtnut.com/l/_WpZgUXulL3H1


4.  is equal to ......

Watch Video Solution

∫
0

1

√3 dx

1 + x2

5.  is equal to :

Watch Video Solution

∫
1

− 1
x11 cos4 xdx

6.  is equal to …….∫
1

− 1

x5 cos6 xdx

https://dl.doubtnut.com/l/_WpZgUXulL3H1
https://dl.doubtnut.com/l/_IjnOXRVusadR
https://dl.doubtnut.com/l/_lzSzPUC1hHJU
https://dl.doubtnut.com/l/_HQRaeSnN8Vzc


Watch Video Solution

7. Evaluate 

Watch Video Solution

∫
1

− 1
x17 cos4 xdx

8.  equals :

Watch Video Solution

∫
7

3
dx

√10 − x

√x + √10 − x

9.  is equal to :∫
π

0

sin3 x cos7 xdx

https://dl.doubtnut.com/l/_HQRaeSnN8Vzc
https://dl.doubtnut.com/l/_R8FNFvS2g0tq
https://dl.doubtnut.com/l/_IAGyLeAQRpeA
https://dl.doubtnut.com/l/_Fi01RbPzrTOO


Watch Video Solution

10.  is equal to

Watch Video Solution

∫
π / 2

0

( )dx
√cos x

√sinx + √cos x

11.  is equal to :

Watch Video Solution

∫
0

dx

π

2 sin x
5
2

sin x + cos x
5
2

5
2

https://dl.doubtnut.com/l/_Fi01RbPzrTOO
https://dl.doubtnut.com/l/_J0PV5WerJukn
https://dl.doubtnut.com/l/_pg5MyqwiSptA


12.  is equal to :

Watch Video Solution

∫
0

dx

π

2 sin x
5
2

sin x + cos x
5
2

5
2

13. By using the properties of definte, prove

that 

Watch Video Solution

∫
π / 2

0
=

√cot x

√tanx + √cot x

π

4

https://dl.doubtnut.com/l/_sfZZfEwNlBSX
https://dl.doubtnut.com/l/_iJzpoash3Qog


14.  equals :

Watch Video Solution

∫
√3

1

dx

1 + x2

15. The value of

 is :

Watch Video Solution

∫
π / 2

−π / 2
(x3 + x cos x + tan5 x + 1)dx

16. If , then 

is equal to:

f(a + b − x) = f(x) ∫
b

a

xf(x)dx

https://dl.doubtnut.com/l/_RBiTIq2ysY7i
https://dl.doubtnut.com/l/_UJlPq9r7MM0y
https://dl.doubtnut.com/l/_H9JALThS9snk


Watch Video Solution

17.  if f is an ……….. function.

Watch Video Solution

∫
a

−a

f(x)dx = 0

18. , if f(2a-x) =

……….. .

Watch Video Solution

∫
2a

0
f(x)dx = 2∫

a

0
f(x)dx

https://dl.doubtnut.com/l/_H9JALThS9snk
https://dl.doubtnut.com/l/_DCwJktpWns7J
https://dl.doubtnut.com/l/_KuaGJ4bA0MI2


19. ………. .

Watch Video Solution

∫
0

=

π

2 sinn xdx

sinn x + cosn x

20.  is equal to …………. .

Watch Video Solution

∫
0

cos xesin xdx

π

2

21. If , then a = …………….. .

Watch Video Solution

∫
a

0
dx =

1

1 + 4x2

π

8

https://dl.doubtnut.com/l/_ORCWvlYTg52w
https://dl.doubtnut.com/l/_gr2nURt4HA80
https://dl.doubtnut.com/l/_OvkPCpuhkGHn


Question Carrying 1 Mark Type Iii

1.  represents the area of the

region bounded by the curve f(x), the x-axis

and the ordinates x = a and x = b. Find

Watch Video Solution

∫
b

a

f(x)dx

∫
0

sinxdx

π

2

2. Let f be a continuous function on the closed

interval [a, b] and let A(x) be the area function.

https://dl.doubtnut.com/l/_U5vfG7ei8Jlm
https://dl.doubtnut.com/l/_h8nLDVGwTTLM


Then show that A'(x) = f(x), for all .

Watch Video Solution

x ∈ [a, b]

3. .

Watch Video Solution

∫
b

a

f(x)dx = F (b) − F (a)

4. .

Watch Video Solution

∫
b

a

f(x)dx = ∫
b

a

f(z)dz

https://dl.doubtnut.com/l/_h8nLDVGwTTLM
https://dl.doubtnut.com/l/_PDPfVBzYg0Va
https://dl.doubtnut.com/l/_spYqjSN8KFSF
https://dl.doubtnut.com/l/_HEavEq3oqahv


5. .

Watch Video Solution

∫
b

a

f(x)dx = ∫
a

b

f(x)dx

6. .

Watch Video Solution

∫
b

a

f(x)dx = ∫
c

a

f(x)dx + ∫
b

c

f(x)dx

7. .

Watch Video Solution

∫
a

0
f(x)dx = ∫

0

a

f(a − x)dx

https://dl.doubtnut.com/l/_HEavEq3oqahv
https://dl.doubtnut.com/l/_ZNC11cAuO0O2
https://dl.doubtnut.com/l/_HKDIT5JBX2Xg
https://dl.doubtnut.com/l/_07CEgnELaeMu


8. 

.

Watch Video Solution

∫
2a

0
f(x)dx = ∫

a

0
f(x)dx + ∫

a

0
f(2a − x)dx

9. If f(x) is an odd function, then

.

Watch Video Solution

∫
a

−a

f(x)dx = 0

https://dl.doubtnut.com/l/_07CEgnELaeMu
https://dl.doubtnut.com/l/_dlQTDi5bbsel


10. Evaluate 

Watch Video Solution

∫
0

(sin 2x)dx

π

4

11. 

Watch Video Solution

∫
1

0
dx = log 2

2x

1 + x2

12. 

Watch Video Solution

∫
1

0
dx = log 6

2x

5x2 + 1

https://dl.doubtnut.com/l/_N2arFypaiEHP
https://dl.doubtnut.com/l/_cc0oxZfb1XXf
https://dl.doubtnut.com/l/_vSOmyB5OO8Gq


13. If , then k = -2.

Watch Video Solution

∫
1

0
(3x2 + 2x + k)dx = 0

14. If , then 

.

Watch Video Solution

f(x) = ∫
x

0

t sin tdt

f' (x) = x sinx

15. If f(x) is an odd function, then

.∫
a

−a

f(x)dx = 0

https://dl.doubtnut.com/l/_YR6QxCrYGurN
https://dl.doubtnut.com/l/_CVGxMT8835cv
https://dl.doubtnut.com/l/_hUHs99SqCGUw


Watch Video Solution

16. .

Watch Video Solution

∫
b

a

f(x)dx = ∫
b

a

f(a + b − x)dx

17. 

Watch Video Solution

∫
−

sin3 xdx = 2.

π

4

π

4

https://dl.doubtnut.com/l/_hUHs99SqCGUw
https://dl.doubtnut.com/l/_W1Oi2oFVzE2R
https://dl.doubtnut.com/l/_N8LlCBDZ051D


Question Carrying 2 Marks

18. .

Watch Video Solution

∫
0

log tanxdx = 0

π

2

19. Evaluate : 

Watch Video Solution

∫
e2

e

dx

x logx

https://dl.doubtnut.com/l/_bnb5guMHDHjS
https://dl.doubtnut.com/l/_dI4VzY75hCCG


1. Evaluate : .

Watch Video Solution

∫ cos 2x log sinxdx

π

2

π

4

2. Evaluate : .

Watch Video Solution

∫
0

dx

π

2 x + sinx

1 + cos x

3. Evaluate : 

Watch Video Solution

∫
1

0
xex

2
dx

https://dl.doubtnut.com/l/_fyjOcGm4UEum
https://dl.doubtnut.com/l/_xbl16dOPLn3S
https://dl.doubtnut.com/l/_I3FjFKgmrFnu


4. Evaluate : 

Watch Video Solution

∫
0

dx

π

2 cos2 x

1 + 3 sin2 x

5. Evaluate : 

Watch Video Solution

∫
e2

e

dx

x logx

6. Prove that :

.∫
0

(√tanx + √cot x)dx = √2.

π

4 π

2

https://dl.doubtnut.com/l/_I3FjFKgmrFnu
https://dl.doubtnut.com/l/_E0FEB2gkfzIJ
https://dl.doubtnut.com/l/_JkLNBrXxiDXz
https://dl.doubtnut.com/l/_nbK44NL4x9sw


Watch Video Solution

7. Evaluate the definite integral:

Watch Video Solution

∫ dx

π

3

π

6

sinx + cos x

√sin 2x

8. Evaluate .

Watch Video Solution

∫
0

sin 2x tan− 1(sinx)dx

π

2

https://dl.doubtnut.com/l/_nbK44NL4x9sw
https://dl.doubtnut.com/l/_nAUHNAzW8x0m
https://dl.doubtnut.com/l/_TilGgvCy5k0O


9. Evaluate : .

Watch Video Solution

∫
0

dx

π

2 2sin x

2sin x + 2cos x

10. Evaluate  dx

Watch Video Solution

∫
π / 3

π / 6

(
1

1 + √tanx

11. Evaluate .

Watch Video Solution

∫
π / 4

0
log(1 + tanx)dx

https://dl.doubtnut.com/l/_Q9xXCZVeRkZD
https://dl.doubtnut.com/l/_0Xq09CpXJQQO
https://dl.doubtnut.com/l/_vuYWtVRU0Mz1


Question Carrying 4 Marks

12. Evaluate .

Watch Video Solution

∫
1

− 1

|2x + 1|dx

1. Prove that : .

Watch Video Solution

∫
π

0

dx =
x tanx

secx cos ecx
π2

4

https://dl.doubtnut.com/l/_vuYWtVRU0Mz1
https://dl.doubtnut.com/l/_VX06W4Qxzkcs
https://dl.doubtnut.com/l/_uA0C9vXJDfZL


2. Using property of define integrals, prove

that : 

Watch Video Solution

∫
1

0
= log 2

log(1 + x)

1 + x2

π

8

3. Show that : 

Watch Video Solution

∫
π

0
dx = π

x

1 + sinx

https://dl.doubtnut.com/l/_03yz2PIYyvPE
https://dl.doubtnut.com/l/_C7bqlaNVyxg8


4. Prove that : .

Watch Video Solution

∫
π

0
dx =

x tanx

secx cos ecx

π2

4

5. By using the properties of definite integrals,

evaluate the following : 

Watch Video Solution

∫
0

dx

π

2 x sinx cos x

sin4 x + cos4 x

6. Evaluate : .∫
π

0

xdx

a2 cos2 x + b2 sin2 x

https://dl.doubtnut.com/l/_XS2GQYoH4kfc
https://dl.doubtnut.com/l/_w0qTrmMqhdp3
https://dl.doubtnut.com/l/_91dyFkg34vWJ


Watch Video Solution

7. By using the properties of definte, prove

that 

Watch Video Solution

∫
a

0
=

√xdx

√x + √a − x

a

2

8. Evaluate :

.

Watch Video Solution

∫
4

2
{|x − 2| + |x − 3| + |x − 4|}dx

https://dl.doubtnut.com/l/_91dyFkg34vWJ
https://dl.doubtnut.com/l/_0oGFTYLU3aPt
https://dl.doubtnut.com/l/_R3t5B6AuQ381


https://dl.doubtnut.com/l/_R3t5B6AuQ381

